
L2(17) (mod 17)

blocks defect matrix

G : 1 1 10× 8
2 0 171 = χ8, ϕ9

2.G : 3 1 10× 8

Block 1: ϕ1 ϕ2 ϕ3 ϕ4 ϕ5 ϕ6 ϕ7 ϕ8

11 = χ1 1 . . . . . . .
91 = χ2 . . . . 1 . . .
92 = χ3 . . . . 1 . . .
161 = χ4 . . 1 . . 1 . .
162 = χ5 . . . 1 1 . . .
163 = χ6 . 1 . . . . 1 .
164 = χ7 1 . . . . . . 1
181 = χ9 . . 1 . . . 1 .
182 = χ10 . 1 . . . . . 1
183 = χ11 . . . 1 . 1 . .

ϕ1 = 11
ϕ2 = 31
ϕ3 = 51
ϕ4 = 71
ϕ5 = 91
ϕ6 = 111
ϕ7 = 131
ϕ8 = 151

Block 3: ϕ10 ϕ11 ϕ12 ϕ13 ϕ14 ϕ15 ϕ16 ϕ17

81 = χ12 . . . 1 . . . .
82 = χ13 . . . 1 . . . .
165 = χ14 1 . . . . . 1 .
166 = χ15 . . . . . . . 1
167 = χ16 . 1 . . . 1 . .
168 = χ17 . . 1 . 1 . . .
184 = χ18 1 . . . . . . 1
185 = χ19 . . 1 . . 1 . .
186 = χ20 . . . 1 1 . . .
187 = χ21 . 1 . . . . 1 .

ϕ10 = 21
ϕ11 = 41
ϕ12 = 61
ϕ13 = 81
ϕ14 = 101
ϕ15 = 121
ϕ16 = 141
ϕ17 = 161


